Type of light bulb	Electricity use (Watt hour (Wh)
Regular light bulb	100
Energy saving Light bulb	30

- 1. Typically, we use lighting fixtures for 5 hours a day. How much electricity do you use per day if you use a regular light bulb?
- 2. How much electricity do you use if you use an energy saving light bulbs for 5 hours a day?
- 3. How much electricity can you save in 5 hours if you replace a regular light bulb with an energy saving light bulb in one of your light fixtures?
- 4. How much electricity can you save in 5 hours if you replace regular light bulbs with energy saving light bulbs in two of your light fixtures?

Type of light bulb	Electricity use (Watt hour (Wh)
Regular light bulb	100
Energy saving Light bulb	15

- 1. Typically, we use lighting fixtures for 5 hours a day. How much electricity do you use per day if you use a regular light bulb?
- 2. How much electricity do you use if you use an energy saving light bulbs for 5 hours a day?
- 3. How much electricity can you save in 5 hours if you replace a regular light bulb with an energy saving light bulb in one of your light fixtures?
- 4. How much electricity can you save in 5 hours if you replace regular light bulbs with energy saving light bulbs in two of your light fixtures?

Type of light bulb	Electricity use (Watt hour (Wh)
Regular light bulb	100
Energy saving Light bulb	30

1. Typically, we use lighting fixtures for 5 hours a day. How much electricity do you use per day if you use a regular light bulb?

$$100 \times 5 = 500 \text{ (Wh)}$$

2. How much electricity do you use if you use an energy saving light bulbs for 5 hours a day?

$$30 \times 5 = 150 \text{ (Wh)}$$

3. How much electricity can you save in 5 hours if you replace a regular light bulb with an energy saving light bulb in one of your light fixtures?

$$500 - 150 = 350 (Wh)$$

4. How much electricity can you save in 5 hours if you replace regular light bulbs with energy saving light bulbs in two of your light fixtures?

$$350 \times 2 = 700 \text{ (Wh)}$$

Type of light bulb	Electricity use (Watt hour (Wh)
Regular light bulb	100
Energy saving Light bulb	15

1. Typically, we use lighting fixtures for 5 hours a day. How much electricity do you use per day if you use a regular light bulb?

$$100 \times 5 = 500 \text{ (Wh)}$$

2. How much electricity do you use if you use an energy saving light bulbs for 5 hours a day?

$$15 \times 5 = 45$$
 (Wh)

3. How much electricity can you save in 5 hours if you replace a regular light bulb with an energy saving light bulb in one of your light fixtures?

$$500 - 45 = 455$$
 (Wh)

4. How much electricity can you save in 5 hours if you replace regular light bulbs with energy saving light bulbs in two of your light fixtures?

$$455 \times 2 = 910 \text{ (Wh)}$$